
ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E 4-
1

70
72

71

17

19

51

52
.6

50
/2

 Ø
 2

6,
80

 m
m

R
ef

/ 1
.4

61
.0

74
.3

38

52
.6

50
/5

 Ø
 2

5,
60

 m
m

R
ef

/ 1
.4

61
.0

74
.3

28

52
.6

50
/1

0 
R

ef
/ 1

.4
61

.0
38

.3
19

52
.6

50
/2

7
R

ef
/ 1

.4
61

.0
74

.3
39

52
.6

50
/1

3 
R

ef
/ 2

94
25

9-
00

20
D

E
N

S
O



P
ic

s
S

T
A

R
 R

ef
/

O
ri

g.
R

ef
er

en
ce

D
es

cr
ip

ti
on

s
P

ic
s

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

1
17

31
32

6
47

11
69

7
sh

af
t s

pi
lin

e(
Z-

10
00

) m
m

.1
7

2
34

10
0

14
60

32
43

15
=8

2.
00

38
sh

or
t b

us
h 

V
E

 m
m

.2
0

17
31

32
7

sh
af

t s
pi

lin
e 

(6
5-

70
) m

m
.2

0

2
34

10
1

14
60

32
43

16
=8

2.
00

52
ac

ce
le

ra
to

r b
us

h 
sh

af
t m

m
.2

5
17

31
32

8
47

72
02

2
sh

af
t s

pi
lin

e 
D

A
IL

Y
 T

D

2
34

10
2

14
60

32
43

33
=7

98
46

16
=8

2.
01

59
ac

ce
le

ra
to

r b
us

h 
sh

af
t m

m
.3

0
17

31
32

9
47

97
22

6
sh

af
t s

pi
lin

e 
D

U
C

A
TO

 T
D

2
34

10
3

14
60

32
43

32
=8

2.
01

58
ac

ce
le

ra
to

r b
us

h 
sh

af
t m

m
.3

5
18

31
93

8
14

60
28

33
01

=9
00

85
45

oi
l s

ea
l V

E
 m

m
.1

7x
28

x7

2
34

10
4

14
60

32
43

31
ac

ce
le

ra
to

r b
us

h 
sh

af
t m

m
.4

0,
5

18
31

90
2

us
e 

31
93

6

3
31

19
3

14
63

45
63

03
=7

90
71

36
8=

82
.0

35
2

ou
t r

et
ur

n 
va

lv
e 

0,
55

18
31

93
6

14
60

28
33

02
=7

90
71

38
0

oi
l-s

ea
l V

E
 m

m
.2

0x
31

x7

4
34

10
5

14
64

65
13

03
ac

ce
le

ra
to

r s
pr

in
g 

18
31

90
2/

01
04

01
40

-2
90

0
oi

l-s
ea

l M
W

 ty
pe

 v
ito

n

4
34

10
6

14
64

31
33

01
ac

ce
le

ra
to

r s
pr

in
g

19
31

30
1

14
60

10
00

04
=8

4.
00

50
ca

si
ng

 b
us

h 
V

E
 m

m
.1

7

4
34

10
7

14
64

65
10

36
ac

ce
le

ra
to

r s
pr

in
g

19
31

30
2

14
60

40
00

14
=8

4.
00

51
ca

si
ng

 b
us

h 
V

E
 m

m
.2

0

4
34

10
8

14
64

65
10

07
ac

ce
le

ra
to

r s
pr

in
g

20
34

13
0

14
63

59
03

11
 e

x 
30

6
go

ve
rn

or
 s

ha
ft 

V
E

4
34

10
9

14
64

65
10

08
ac

ce
le

ra
to

r s
pr

in
g

20
34

13
1

14
63

59
03

10
go

ve
rn

or
 s

ha
ft 

V
E

4
34

11
0

14
64

65
13

83
ac

ce
le

ra
to

rs
pr

in
g 

LA
N

C
IA

 T
H

E
M

A
21

31
04

7
19

00
21

01
04

=8
1.

00
18

o-
rin

g 
go

ve
rn

or
 V

E

5
34

11
1

29
10

14
22

07
V

E
 s

cr
ew

 c
ov

er
 6

x3
5

22
34

30
4

14
63

16
13

04
sh

af
t V

E
 F

O
R

D

6
34

11
4

on
 re

qu
es

t
22

34
30

8
14

63
16

13
08

sh
af

t V
E

 F
IA

T 
IV

E
C

O

7
34

11
9

14
60

20
63

03
=8

1.
00

08
V

E
 g

as
ke

t r
in

g
22

34
32

9
14

63
16

13
29

sh
af

t V
E

 O
P

E
L

7
34

12
0/

01
24

60
20

60
04

V
E

 g
as

ke
t c

ov
er

 e
le

ct
ro

ni
c

22
34

36
6

14
63

16
13

66
sh

af
t V

E
 (F

O
R

D
-F

IA
T-

A
IF

O
)

7
34

12
0/

02
24

60
20

60
07

V
E

 g
as

ke
t c

ov
er

 e
le

ct
ro

ni
c

22
34

34
2

14
63

16
13

42
sh

af
t V

E
 (O

P
E

L-
F/

D
A

IL
Y

-J
A

P
A

N
)

7
34

12
0

14
61

01
53

00
=8

1.
04

59
V

E
 g

as
ke

t r
in

g
22

34
34

3
sh

af
t V

E
 F

IA
T 

m
m

.3
5

8
31

04
8

14
60

21
03

19
=8

1.
00

81
o-

rin
g 

V
E

 d
ie

se
l o

il 
re

gi
st

er
 

22
34

34
4

sh
af

t V
E

 L
A

N
C

IA
 m

m
.4

5

9
34

12
1

14
63

52
63

47
re

gi
st

er
 s

cr
ew

 m
m

.2
4

22
34

34
5

sh
af

t V
E

 m
m

.5
5

9
34

12
2

14
63

52
63

45
re

gi
st

er
 s

cr
ew

 m
m

.2
6

22
/1

34
37

7
14

63
16

13
77

sh
af

t V
E

 F
IA

T 
-V

W
-R

E
N

A
U

LT

9
34

12
3

14
63

40
23

30
re

gi
st

er
 s

cr
ew

 m
m

.8
x2

6
22

/1
34

37
9

14
63

16
13

79
sh

af
t V

E
 V

M
=O

P
E

L

9
34

12
4

14
63

52
63

49
re

gi
st

er
 s

cr
ew

 m
m

.2
8

22
/1

34
38

1
14

63
16

13
81

sh
af

t V
E

 F
IA

T 
FO

R
D

 P
E

U
G

E
O

T

10
34

12
5

14
60

41
03

02
ca

tc
h 

bu
sh

in
g

22
/1

34
38

3
14

63
16

13
83

sh
af

t V
E

 F
IA

T 
V

M
 V

O
LV

O

11
34

12
6

14
63

40
23

10
re

gi
st

er
 V

E
22

/1
34

39
0

14
63

16
13

90
sh

af
t V

E
 F

IA
T=

V
M

12
34

12
7

14
63

10
20

04
re

gi
st

er
 V

E
 m

m
.4

5
22

/1
34

52
3

14
63

16
15

23
sh

af
t V

E
 A

U
D

I=
R

E
N

A
U

LT

13
34

11
2

29
10

02
21

99
=9

92
29

44
V

E
 s

cr
ew

 6
x1

8
22

/1
34

58
1

14
63

16
15

81
sh

af
t V

E
 F

IA
T 

V
W

G
TI

14
34

17
5

14
60

21
03

04
=1

46
02

10
30

0
V

E
 s

ea
l r

in
g

22
/1

34
59

7
14

63
16

15
97

sh
af

t V
E

 L
A

N
C

IA
-V

W
-A

U
D

I

15
34

12
8

16
61

07
43

07
m

od
ifi

ca
tio

n 
pl

aq
ue

 m
m

.1
22

/1
34

64
4

14
63

16
16

44
sh

af
t V

E
 V

O
LV

O
 7

60

15
34

12
9

m
od

ifi
ca

tio
n 

pl
aq

ue
 m

m
.2

22
/1

34
70

3
14

63
16

17
03

sh
af

t R
E

N
A

U
LT

-C
H

E
R

O
K

E
E

 V
M

 e
ng

in
e

16
52

50
3

47
99

06
0

ga
sk

et
 (D

P
A

=V
E

) o
va

l h
ol

e
22

/1
34

70
4

14
63

16
17

04
sh

af
t V

E
 V

O
LV

O
 7

60
 C

LI
M

A

16
52

50
4

46
07

62
7=

83
.0

10
4

ga
sk

et
 (D

P
A

=V
E

) r
ou

nd
 h

ol
e

22
/1

34
71

0
14

63
16

17
10

sh
af

t V
E

 L
A

N
C

IA
-B

M
W

-V
M

17
31

32
5

47
15

87
7

sh
af

t s
pi

lin
e 

S
O

FI
M

 B
H

22
/1

34
71

2
14

63
16

17
12

sh
af

t V
E

 P
A

N
D

A
-P

E
U

G
E

O
T

PL
EA

SE
 R

ET
U

R
N

 T
O

 T
H

E 
FI

R
ST

 P
A

R
T 

O
F 

TH
E 

C
A

TA
LO

G
U

E 
O

N
 G

A
SK

ET
 K

IT

4-
2

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E



P
ic

s
S

T
A

R
 R

ef
/

O
ri

g.
R

ef
er

en
ce

D
es

cr
ip

ti
on

s
P

ic
s

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

22
/1

34
71

6
14

63
16

17
16

sh
af

t V
E

 P
E

U
G

E
O

T-
C

IT
R

O
E

N
 

38
34

14
4

ro
lle

r p
in

 k
it 

V
E

 (2
pc

s)

22
/1

34
72

2
14

63
16

17
22

sh
af

t V
E

 V
M

-F
IA

T
38

34
14

5
ro

llr
r p

in
 k

it 
w

ith
 s

eg
er

 (2
pc

s)

22
/1

34
72

5
14

63
16

17
25

sh
af

t V
E

 F
O

R
D

-V
W

-F
IA

T
39

34
14

6
14

66
10

03
05

=4
24

90
98

0
dr

iv
e 

sh
af

t V
E

 m
m

.1
7

22
/1

34
72

9
14

63
16

17
29

sh
af

t V
E

 F
IA

T-
FO

R
D

39
34

14
7

14
66

10
03

13
dr

iv
e 

sh
af

t V
E

 m
m

.1
7 

A
U

D
I

22
/1

34
73

3
14

63
16

17
33

sh
af

t V
E

 V
M

=A
U

D
I

39
34

14
8

14
66

10
03

10
dr

iv
e 

sh
af

t R
E

N
A

U
LT

 V
M

22
/1

34
77

8
14

63
16

17
78

sh
af

t V
E

 V
M

=A
LF

A
 1

64
39

34
14

9
14

66
10

03
04

dr
iv

e 
sh

af
t m

m
.2

0 
FO

R
D

22
/1

34
79

6
14

63
16

17
96

=1
46

31
63

11
8

sh
af

t V
E

 c
itr

oe
n 

bx
 1

.9
d

39
34

15
0

14
66

10
03

14
dr

iv
e 

sh
af

t m
m

.2
0 

(3
14

)

22
/1

34
80

9
14

63
16

18
09

sh
af

t V
E

 F
IA

T 
TD

39
34

15
1

14
66

10
03

25
=1

46
61

00
31

2=
79

07
13

83
dr

iv
e 

sh
af

t m
m

.2
0

22
/1

34
84

5
14

63
16

18
45

sh
af

t V
E

 F
IA

T
39

34
18

0/
5

14
66

10
03

55
V

E
 s

ha
ft 

m
m

.2
0 

(4
01

)

22
/1

34
84

6
14

63
16

18
46

sh
af

t V
E

 L
A

N
C

IA
40

34
15

2
14

60
10

23
02

=1
46

01
02

31
2

th
ru

st
 w

as
he

r v
E

22
/1

34
86

0
14

63
16

18
60

sh
af

t V
E

 V
W

=P
A

S
S

A
T 

TD
41

34
15

3
29

10
87

11
31

V
E

 s
cr

ew
 fo

r p
um

p 
as

sy

23
31

04
1

14
60

21
00

08
=9

00
85

58
=8

1.
00

11
o-

rin
g 

nb
r (

ac
c.

V
E

)
42

34
15

4
14

60
13

43
01

=1
46

01
34

31
3

m
id

dl
in

g 
pl

at
e 

V
E

23
31

04
1/

01
14

60
21

00
08

S
o-

rin
g 

sh
af

t V
E

 v
ito

n
43

34
15

5
14

60
22

09
01

=1
46

70
30

30
2/

04
/0

7=
81

24
46

0
fe

ed
 p

um
p 

m
m

.1
7

24
34

13
2

03
30

00
10

18
=8

19
03

93
so

le
no

id
 B

O
S

C
H

 1
2V

43
34

15
6

14
60

22
09

02
=1

46
70

30
30

4=
42

49
09

70
su

pp
ly

 p
um

p 
V

E
 m

m
.2

0

24
34

13
3

94
61

61
21

64
=7

90
82

10
8

so
le

no
id

 B
O

S
C

H
 2

4V
44

34
15

7
14

60
05

63
02

=9
98

27
71

=8
1.

00
07

ru
bb

er
 in

se
rt 

(6
0 

S
H

)

25
31

04
6

14
60

21
00

06
se

al
 ri

ng
 s

ol
en

oi
d

44
34

15
7/

01
V

E
 ru

bb
er

 in
se

rt 
(8

0 
S

H
)

26
34

11
3

14
63

41
43

03
V

E
 s

cr
ew

 h
ea

d 
ro

to
r

45
31

31
4

14
60

02
33

02
=7

90
71

38
4

ke
y 

V
E

 4
x6

x9

27
46

31
31

0
19

00
02

30
07

=1
02

06
22

0
ke

y 
3x

6,
5

28
34

13
4

19
00

21
01

31
V

E
 o

-r
in

g 
pl

ug
46

31
31

1
19

00
02

30
08

=1
02

05
82

0
ke

y 
4x

6,
5 

si
m

m
s

28
34

13
4/

01
14

60
21

03
04

o-
rin

g 
re

d
46

31
31

3
19

00
02

30
03

ke
y 

V
E

 F
O

R
D

 T
R

A
N

S
IT

29
34

13
5

14
63

46
13

14
=1

46
34

61
30

6=
79

07
13

96
V

E
 p

lu
g 

se
t

47
31

03
7

14
60

21
00

07
=9

00
85

51
=8

1.
00

10
o-

rin
g 

29
34

13
5/

01
24

63
45

20
01

pl
ug

(e
le

ct
ro

ni
c 

V
E

)
48

31
03

8
14

60
21

00
15

=9
92

29
54

=8
1.

00
12

0
o-

rin
g 

V
E

 v
al

ve
 (l

ow
er

)

30
34

13
6

29
16

71
06

03
w

as
he

r c
op

pe
r 8

,2
x1

1x
1

49
34

15
8

14
60

36
23

01
pr

es
su

re
 v

al
ve

 F
IA

T-
V

W
-O

P
E

L

31
34

13
7

14
63

45
33

06
=7

90
71

39
8

sc
re

w
 fo

r p
lu

g 
V

E
49

34
15

9
14

60
36

23
06

pr
es

su
re

 v
al

ve

32
31

21
8

19
00

50
80

09
=9

98
27

29
pr

ot
ec

tio
n 

ca
p 

m
m

.1
2

49
34

16
0

14
60

36
23

08
pr

es
su

re
 v

al
ve

33
34

13
8

14
63

37
03

19
=7

90
71

31
9

d/
va

lv
e 

ho
ld

er
 V

E
49

34
16

1
14

60
36

23
09

pr
es

su
re

 v
al

ve

33
34

13
9

14
63

37
03

45
d/

va
lv

e 
ho

ld
er

 V
E

 T
U

R
B

O
49

34
16

2
14

60
36

23
10

pr
es

su
re

 v
al

ve

33
34

14
0

14
63

37
03

53
d/

va
lv

e 
ho

ld
er

 P
E

U
G

E
O

T
49

34
16

3
14

60
36

23
26

pr
es

su
re

 v
al

ve

33
34

14
1

14
63

37
03

47
=1

46
33

70
44

8=
79

84
59

6
d/

va
lv

e 
ho

ld
er

 D
A

IL
Y

 T
/D

50
31

59
6

29
15

01
10

07
=1

58
96

21
1

ex
ag

on
 n

ut
 m

m
.6

34
sp

rin
g 

on
 re

qu
es

t
51

34
16

4
14

61
03

09
01

sh
im

s 
M

S
 m

m
.1

,5
0

35
va

lv
e 

on
 re

qu
es

t
51

34
16

5
sh

im
s 

M
S

 m
m

.1
,5

5

36
34

14
2

14
60

10
53

05
=9

00
85

56
V

E
 w

as
he

r 0
46

01
05

30
5

51
34

16
6

sh
im

s 
M

S
 m

m
.1

,6
0

37
31

04
3

24
60

21
00

12
=1

90
02

10
15

4=
99

24
97

3
o-

rin
g 

V
E

 h
ea

d
51

34
16

7
sh

im
s 

M
S

 m
m

.1
,6

5

38
34

14
3

ro
lle

r p
in

 k
it 

V
E

 (3
pc

s)
51

34
16

8
sh

im
s 

M
S

 m
m

.1
,7

0

H
YD

R
A

U
LI

C
 H

EA
D

,P
LE

A
SE

 S
EE

 P
A

G
E 

4-
5

4-
3

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E



P
ic

s
S

T
A

R
 R

ef
/

O
ri

g.
R

ef
er

en
ce

D
es

cr
ip

ti
on

s
P

ic
s

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

51
34

16
9

sh
im

s 
M

S
 m

m
.1

,7
5

51
34

17
0

sh
im

s 
M

S
 m

m
.1

,8
0

51
34

17
1

sh
im

s 
M

s 
m

m
.1

,8
5

51
34

17
2

sh
im

s 
M

S
 m

m
.1

,9
0

52
34

11
3/

01
up

pe
r s

cr
ew

 L
D

A
 m

m
.6

x1
0

53
47

14
5

24
20

50
30

02
=8

1.
03

92
di

ap
hr

ag
m

 L
D

A
 m

m
.6

 s
il/

53
47

14
6

14
60

50
33

04
di

ap
hg

ra
m

 L
D

A
 (b

la
ck

)

54
sh

af
t o

n 
re

qu
es

t

55
34

11
8

14
67

13
35

88
co

ve
r c

om
pl

et
e 

LD
A

56
34

18
2

14
60

14
70

06
st

ar
 g

ea
r V

E

57
54

14
3

14
60

51
60

01
V

E
 d

us
t c

ap
 

60
34

18
4

14
60

23
29

08
V

E
 k

it 
pu

m
p

61
31

05
9

14
60

21
03

03
V

E
 o

-r
in

g 
V

IT
O

N
 L

D
A

65
34

20
0

14
67

01
00

54
fli

gh
t w

ei
gh

t v
e

66
34

18
8

sh
af

t s
pr

in
g 

V
E

67
34

20
2

14
64

65
03

86
m

ax
im

um
 s

pr
in

g 
V

E

67
34

96
5

14
64

65
03

88
m

ax
im

um
 s

pr
in

g 
V

E

68
34

20
0/

02
1.

46
6.

31
7.

31
9

bl
oc

k 
le

ve
r g

ov
er

no
r

68
/2

34
19

0
1.

46
7.

01
0.

43
7

sp
rin

g 
ki

t v
e

68
/2

34
19

2
1.

46
4.

65
0.

49
1

sp
rin

g 
ki

t v
e

69
34

96
4/

05
1.

46
7.

01
0.

49
4=

49
5

sp
rin

g 
ki

t v
e 

D
ai

ly
 td

 m
m

.3
8,

15

69
34

96
4/

10
1.

46
7.

01
0.

35
2

sp
rin

g 
ki

t v
e 

st
an

da
rd

 m
m

.3
3,

70

70
34

18
5

2.
46

3.
10

4.
03

7
pi

st
on

 Iv
ec

o=
C

itr
oe

n=
P

eu
ge

ot
=B

m
w

71
34

.1
86

1.
46

6.
31

7.
30

1
di

sk
 V

E

72
34

13
6/

03
1.

46
3.

45
2.

31
3

la
te

ra
l s

cr
ew

 V
E

4-
4

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E



S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

34
.9

80
/1

4
1.

46
8.

33
4.

79
8

V
E

 R
52

2/
2

34
.9

80
/1

5
1.

46
8.

33
4.

85
9

V
E

 R
62

4/
2.

..R
68

6.
..

34
.9

80
/1

6
1.

46
8.

33
4.

87
4

V
E

 R
40

7,
R

40
7/

1,
R

46
8 

IV
E

C
O

 E
U

R
O

C
A

R
G

O
 4

 C
yl

.

34
.9

80
/1

7
9.

46
1.

61
7.

09
5

V
E

...
R

N
P

 1
56

1 
N

/D
E

N
S

O

34
.9

80
/1

8
1.

46
8.

33
4.

89
9

V
E

 R
73

5,
R

72
1,

R
72

3.
..

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

34
.9

80
/2

0
1.

46
8.

33
6.

48
0

V
E

 R
17

3/
1,

R
37

3,
R

38
1/

7,
C

U
M

M
IN

S
,N

/H
O

LL
A

N
D

,C
A

S
E

34
.9

80
/2

1
1.

46
8.

33
4.

46
8

V
E

 R
32

8/
2,

R
32

8/
3

34
.9

49
1.

46
8.

33
3.

32
3

V
E

 L
16

3,
L1

63
/1

 F
IA

T 
3 

C
yl

. =
N

E
W

 H
O

LL
A

N
D

 m
m

.1
0

34
.9

80
/2

2
1.

46
8.

33
6.

60
1

V
E

 R
62

3,
R

67
4,

R
81

9 
Ø

 1
2 

6 
C

yl
.

34
.9

50
1.

46
8.

33
4.

56
5

V
E

 R
16

,R
16

0,
R

22
3,

R
33

3
34

.9
80

/2
3

2.
46

8.
33

4.
02

8
V

E
 L

58
0,

L5
80

/1
,L

61
9

34
.9

52
1.

46
8.

33
4.

31
3

V
E

 R
22

,R
24

,R
21

4,
R

87
34

.9
80

/2
4

1.
46

8.
33

4.
37

8
V

E
 R

12
3,

R
22

6,
R

37
4,

R
37

8.
..

34
.9

54
1.

46
8.

33
4.

33
7

V
E

 R
14

-1
 F

O
R

D
 T

R
A

N
S

IT
34

.9
80

/2
5

1.
46

8.
33

6.
45

7=
45

8
V

E
 R

 1
81

,1
81

/1
=R

19
6=

19
6/

1 
Ø

 1
1 

6 
C

yl
.

34
.9

56
1.

46
8.

33
5.

30
4=

34
5

V
E

 L
35

=L
45

 A
U

D
I

34
.9

80
/2

6
1.

46
8.

33
5.

33
9=

79
07

40
31

V
E

 R
 1

65
  F

IA
T 

B
E

N
FR

A
=L

A
V

E
R

D
A

34
.9

58
1.

46
8.

33
6.

35
2=

62
6

V
E

 L
21

-3
 P

E
R

K
IN

S
 6

 C
yl

. m
m

.1
2

34
.9

80
/2

8
09

64
40

0-
13

30
V

E
 N

/D
E

N
S

O

34
.9

60
1.

46
8.

33
4.

31
9

V
E

 L
37

 O
P

E
L

34
.9

80
/2

9
1.

46
8.

33
4.

84
2

V
E

 L
 6

58
=6

58
/1

 V
M

 3
11

=3
13

34
.9

62
1.

46
8.

33
4.

33
6

V
E

 R
61

=R
16

7=
R

61
-2

 F
IA

T 
FI

O
R

IN
O

=U
N

O
 D

34
.9

80
/3

1
1.

46
8.

33
4.

66
5

V
E

 L
 5

03
 V

M
=F

O
R

D

34
.9

64
1.

46
8.

33
4.

60
3

V
E

 R
29

4.
R

29
4/

2
34

.9
80

/3
2

1.
46

8.
37

4.
05

8 
E

X
 1

.4
68

.3
34

.0
08

V
E

 R
72

1 
R

E
N

A
U

LT
 M

A
S

TE
R

 =
FI

A
T 

D
U

C
A

TO
 2

.8

34
.9

66
1.

46
8.

33
6.

61
4

V
E

 R
40

4,
R

40
4/

2,
R

55
2 

 IV
E

C
O

 E
U

R
O

C
A

R
G

O
 6

 C
yl

.
34

.9
80

/3
3

14
64

00
-2

22
0N

V
E

 D
E

N
S

O

34
.9

68
9.

46
1.

61
4.

15
2=

14
64

01
-0

22
1

V
E

 Z
E

X
E

L 
M

IT
S

U
B

IS
H

I M
E

 7
56

47
0

34
.9

80
/3

4
09

64
00

-1
24

0N
V

E
 D

E
N

S
O

34
.9

70
1.

46
8.

37
4.

04
1 

E
X

 1
.4

68
.3

34
.9

25
V

E
 R

66
0/

1,
R

65
7/

1,
R

82
4.

..
34

.9
80

/3
5

09
64

00
-1

32
0N

V
E

 D
E

N
S

O

34
.9

78
1.

46
8.

33
4.

94
6 

ex
 1

.4
68

.3
34

.5
95

V
E

 R
26

4
34

.9
80

/3
6

09
64

00
-0

17
1=

N
V

E
 D

A
IH

A
TS

U
 N

/D
E

N
S

O

34
.9

80
2.

46
8.

33
4.

05
0=

09
1

V
E

 R
63

8,
R

70
0,

R
65

0,
R

69
6/

3
34

.9
80

/4
0

1.
46

8.
33

6.
63

7
V

E
 R

74
7 

FI
A

T 
TR

A
X

 8
06

5 
6C

yl
. 5

.9
 c

c

34
.9

80
/1

2.
46

8.
33

5.
02

2
V

E
 L

40
0,

L4
60

,L
64

9,
L5

50
…

34
.9

80
/4

4
1.

46
8.

37
3.

00
8

V
E

 L
94

7,
L9

96
 N

/H
O

LL
A

N
D

 3
 C

yl
.m

m
.1

2

34
.9

80
/2

2.
46

8.
33

5.
04

4
V

E
 R

64
1

34
.9

80
/5

0
09

64
00

-0
26

2=
N

V
E

 D
E

N
S

O

34
.9

80
/3

2.
46

8.
33

6.
01

3
V

E
 R

51
5,

R
30

0/
1

34
.9

80
/5

1
1.

46
8.

33
4.

92
3

V
E

 R
79

1=
R

89
3 

C
IT

R
O

E
N

=P
E

U
G

E
O

T

34
.9

80
/4

1.
46

8.
33

4.
58

0
V

E
 R

41
5,

R
41

5/
1…

34
.9

80
/5

2
1.

46
8.

33
4.

93
0

V
E

 R
80

4=
R

80
5=

R
80

4/
1 

C
IT

R
O

E
N

=P
E

U
G

E
O

T

34
.9

80
/5

1.
46

8.
33

4.
59

2
V

E
 L

16
4/

1,
L1

64
/2

 F
IA

T 
4 

C
yl

.
34

.9
80

/5
3

09
62

30
-0

19
0=

N
V

E
 D

E
N

S
O

34
.9

80
/6

1.
46

8.
33

4.
59

6
V

E
 R

12
7.

..
34

.9
80

/5
4

09
64

00
-0

14
3=

N
V

E
 D

E
N

S
O

34
.9

80
/7

1.
46

8.
33

4.
60

4
V

E
 R

34
2

34
.9

80
/5

5
09

64
00

-1
18

0=
N

V
E

 D
E

N
S

O

34
.9

80
/8

1.
46

8.
33

4.
60

6
V

E
 R

39
3

34
.9

80
/5

6
9.

46
1.

61
3.

79
1

V
E

 D
E

N
S

O
 IS

U
ZU

=M
A

ZD
A

34
.9

80
/9

1.
46

8.
33

4.
61

7
V

E
 R

44
4,

R
52

2
34

.9
80

/5
7

9.
46

1.
61

4.
15

2
V

E
 D

E
N

S
O

 M
IT

S
U

B
IS

H
I

34
.9

80
/1

0
1.

46
8.

33
4.

66
6

V
E

 R
52

1,
R

52
1/

1
34

.9
80

/5
8

9.
46

1.
61

4.
29

2
V

E
 D

E
N

S
O

 IS
U

ZU

34
.9

80
/1

1
1.

46
8.

33
4.

67
5

V
E

 R
53

5,
R

54
2

34
.9

80
/5

9
09

64
00

-1
25

0=
N

V
E

 D
E

N
S

O

34
.9

80
/1

2
1.

46
8.

33
4.

72
0

V
E

 R
57

3
34

.9
80

/6
0

1.
46

8.
33

6.
33

5=
31

9=
32

7
V

E
 R

55
 V

O
LV

O
=M

A
N

34
.9

80
/1

3
1.

46
8.

33
4.

78
0=

1.
46

7.
33

4.
78

0
V

E
 R

44
4/

1
34

.9
80

/6
1

1.
46

8.
33

6.
35

0
V

E
 R

38
 IH

C

4-
5

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E



S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

34
.9

80
/6

2
1.

46
8.

37
6.

00
1

V
E

 R
91

2/
R

94
6

34
.9

80
/6

8
14

64
01

-4
22

0
V

E
 Z

E
X

E
L 

N
IS

S
A

N

34
.9

80
/7

0
14

64
02

-0
82

0
V

E
 Z

E
X

E
L 

N
IS

S
A

N
=I

S
U

ZU

34
.9

80
/7

2
14

64
02

-1
42

0
V

E
 Z

E
X

E
L 

IS
U

ZU
=M

A
ZD

A

34
.9

80
/7

4
9.

46
1.

61
5.

07
0=

14
64

02
-3

82
0

V
E

 Z
E

X
E

L 
IS

U
ZU

34
.9

80
/7

6
9.

46
1.

61
7.

87
2=

14
64

02
-4

02
0

V
E

 Z
E

X
E

L 
IS

U
ZU

34
.9

80
/7

8
9.

46
1.

62
0.

10
1=

14
64

03
-3

32
0

V
E

 Z
E

X
E

L 
N

IS
S

A
N

34
.9

80
/8

0
1.

46
4.

61
4.

35
3=

14
64

03
-3

42
0

V
E

 Z
E

X
E

L 
N

IS
S

A
N

34
.9

80
/8

2
1.

46
4.

61
6.

82
8=

14
64

03
-6

82
0

V
E

 Z
E

X
E

L

34
.9

80
/8

3
9.

46
1.

62
6.

03
0=

14
64

03
-9

62
0

V
E

 Z
E

X
E

L

34
.9

80
/8

4
1.

46
8.

33
4.

49
6

V
E

 R
23

9=
R

39
0=

R
64

6=
C

U
M

M
IN

S
=C

D
C

=V
O

LV
O

34
.9

80
/8

6
1.

46
8.

33
4.

77
2

V
E

 R
46

3=
R

46
4 

FI
A

T 
FI

O
R

IN
O

=T
E

M
P

R
A

 1
.7

/1
.9

 D

34
.9

80
/8

8
1.

46
8.

33
4.

81
0

V
E

 R
63

0=
R

87
1=

V
W

 M
W

M
 IN

D
U

S
TR

IA
L

34
.9

80
/9

0
1.

46
8.

33
4.

84
1

V
E

 R
65

3=
R

68
7=

R
86

2=
 M

E
R

C
E

D
E

S
 S

P
R

IN
TE

R

34
.9

80
/9

4
1.

46
8.

33
6.

63
6

V
E

 R
49

8-
1 

C
U

M
M

IN
S

=D
A

F

34
.9

80
/9

6
1.

46
8.

33
6.

64
7

V
E

 R
22

5-
22

=R
37

2 
IH

C
=C

U
M

M
IN

S

34
.9

80
/9

7
1.

46
8.

33
6.

65
5

V
E

 R
73

0/
2=

6 
N

E
W

 H
O

LL
A

N
D

34
.9

80
/9

8
1.

46
8.

33
4.

59
4

V
E

 R
25

7,
R

26
8 

IV
E

C
O

34
.9

80
/1

00
2.

46
8.

33
4.

01
3

V
E

 R
50

0,
R

50
0/

1 
LA

N
D

 R
O

V
E

R
 D

IS
C

O
V

E
R

Y
 2

.5
 T

di

34
.9

81
1.

46
8.

37
4.

.0
20

V
E

 L
10

00
 IV

E
C

O

34
.3

82
1.

46
8.

37
6.

01
3

V
E

 L
10

00
 N

/H
O

LL
A

N
D

34
.9

84
/8

14
64

01
-3

02
0

V
E

 Z
E

X
E

L 
K

O
M

A
TS

U
 4

 C
yl

.

34
.9

85
1.

46
8.

33
6.

80
6=

60
6

V
E

 R
49

8,
R

67
1 

C
U

M
M

IN
S

 6
 C

yl
.

34
.9

86
1.

46
8.

37
6.

03
6

V
E

 R
78

3,
R

79
7 

P
E

R
K

IN
S

 m
m

.1
2

34
.9

87
1.

46
8.

33
6.

40
3

V
E

 R
24

0,
24

0/
2,

24
0/

3 
P

E
R

K
IN

S

34
.9

88
1.

46
8.

33
6.

46
4

V
E

 R
24

1,
24

1/
4 

P
E

R
K

IN
S

4-
6

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E



P
ic

s
S

T
A

R
 R

ef
/

O
ri

g.
R

ef
er

en
ce

D
es

cr
ip

ti
on

s
P

ic
s

S
T

A
R

 R
ef

/
O

ri
g.

R
ef

er
en

ce
D

es
cr

ip
ti

on
s

4-
7

ro
ta

ry
 p

um
ps

 ty
pe

 b
os

ch
 E

P
/V

E


	4-1
	Foglio1

	4-2
	Foglio1

	4-3
	Foglio1

	4-4
	Foglio1

	4-5
	Foglio1

	4-6
	Foglio1

	4-7
	Foglio1


